Seat No.

Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination

Subject Code: C322401
Subject Name: Basic Electronic Circuits

Date: 03/06/2016

Time: 10.30 AM TO 12:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. Y8t et (Asc.
In insulators, the energy gap between valence and conduction bands is ........
1. A. very large B. zZero
C. very small D. none of the above
8yA2R Ml AdY WAl 55520l Als <A oll WatlT AU........8a
oA | udl R B. | g
C. | udl ot D. | i ol As ug <18l
In a semiconductor, the energy gap between valence and conduction bands is about ........
2. A. 15eV B. 100 eV
C. 50 eV D. leVv
Q5552 Ui AAY A 55520t Als A ol Aot AMU......... 8 A
= [A J15ev B. [100eV
C. 50 eV D. leV
The electrons in the conduction band are known as ........
3. A bound electrons B. valence electrons
C. free electrons D. none of the above
$559lot AlS Ui 8ASSet............... RS RN
3. | A | ou@s sAset Ad™ sAsael
C. |4 sasdat D. | i ol As ual o8l
The most commonly used semiconductor is ........
4, A Germanium B. Silicon
C. Carbon D. Sulphur
Hlel eldl GuaL Hi Atdd AHES52R v 8.
¥. |A | wilellan B. | Relldlet
C. | stelat Do | uew?
When a pentavalent impurity is added to a pure semiconductor, it becomes ........
5. A. an insulator B. an intrinsic semiconductor
C. p-type semiconductor D. n-type semiconductor
2R Uelddee ugeell ol gt ASsse Ml GRRA Ml WA RAUR A oo ool
oA | dydeR 62llls Ax5552R
C | Wl etsu Axllssser D. | Aot 2w A 55522
A pentavalent impurity has ........ valence electrons.
6. A. 3 B. 5
C. 4 D. 6
Yelddez wgeddl Hi ........... AQ BASeL Sl
s. |A |3 B- 1y
Addition of trivalent impurity to a semiconductor creates many ........
7. A. holes B. free electrons
C. valence electrons D. bound electrons
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2l8dcoe ALl A YR UL ... Geus 82 &

9. | A |8 B. | gl 8@sdlet
C. | Qe sQsalel D. | olls s@sdlet
As the doping to a pure semiconductor increases, the bulk resistance of the semiconductor ........

8. A remains the same B. Increases
C. Decreases D. none of the above
22 gt AHU55522 of SOl clRAMl WA RUR Aoll 6les AR ...

¢ |A | WAl % 2@ B. | cd
Clud Do 2l ¢l As g o8l
In a semiconductor, current conduction is due ........

9. A only to holes B. only to free electrons
C. to holes and free electrons D. none of the above
Al§sseR Ul 522 of dset ............ ol S0 Al2L.

e. |A | ss5dde B. | g5 4l 8Qsdlot
C. | &d ua 9 sQsRet D | i ol As ug o1&l
A forward biased pn junction has a resistance of the ........

10. A. order of Q B. order of k Q
C. order of MQ D. none of the above
a8 oad YAet %s2lel Hi A ofl (BUd............. Hi 8l

0. A. Q B. kQ
C. |MQ D. | i ol As ual o8l
The barrier voltage at a pn junction for germanium is about ........

11. A. 33v B. 3V
C. 0.3v D. 0.7v
ool oll UlAlet ofs2lat M2 oll A2AR ofl (BHA oo sl

W A [33v B. [3V
C. 0.3v D. 0.7v
The leakage current across a pn junction is due to ........

12. A minority carriers B. majority carriers
C. junction capacitance D. none of the above
Yot a'52let oll A3 52 A e all 51RQl 8l

wR. | A | wsadldl 3l B. | axldldl 3dlawe
C. | ofsatot 3AAEu D. | i ol As ual o8l
With forward bias to a pn junction, the width of depletion layer ........

13. A. decreases B. Increases
C. remains the same D. none of the above
R UlAot %52let ol SRS GllaA™A $cll ML AUA AR 31A2ct AR ofl usla....

3. |A a2 B. |ad
C. | arulley 23 D. | i ol As ual ol
In an intrinsic semiconductor, the number of free electrons ........

14. | A equals the number of holes B. is greater than the number of holes
C. is less than the number of holes D. none of the above
82llls Axlssse2 Ui 9l sAsAt ofl vau.............

. | A | e Becll ¥ 8. B. | &lat 82l ay &l
C. | 8l sl 2l dlaw D. | i ol As uat o8l
The forward voltage drop across a silicon diode is about ........

15. A. 0.7V B. 1.2V
C. 0.3V D. 12V
AcAlslot stals 1l SRad ARw QU ol BHd....

W A Jorv B. [1.2Vv
C. 0.3V D. 12V

16. A diode utilises ........ characteristic for rectification.
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A. | reverse B. Forward
C. forward or reverse D. none of the above
stlls sLglEaat ol ... Ale@sdl ol GUualoL s2.
5. | A | lad B. | R
C. | af waal Radl D. | 2l ol As uel 8.
If the doping level in a diode is increased, the width of depletion layer ........
17. | A remains the same B. is decreased
C. is increased D. none of the above
ol stalls of SUloL Aad atlRal Hi AUA dl dell 31Aet AR ol uslou
. | A | wrull ¥ 2@ B. | w2
C. |ad D. | 2l ol As gl 8.
A zener diode has ........
18. | A one pn junction B. two pn junctions
C. three pn junctions D. none of the above
PR SIS a ... sl
w. [A | As sl A efs2lol
C. ] oL ofsatet D | 2l ol As gL otél.
A zener diode is used as ........
19. A. an amplifier B. a voltage regulator
C. a rectifier D. a multivibrator
Btk stalls oll Guallol ..M ULl
e |A | Andlsiar Al 22JAeR
C | sl D | wcdlawd@e?
A zener diode is always .......... connected.
20. A Reverse B. Forward
C. either reverse or forward D. none of the above
FotR stAls &Rl ... UL slsLA.
0. | A | {lad B. | 8ra$
C. | Aad ¥ fad D. | i ol As ual o8l
A zener diode utilises ........ characteristic for its operation.
21. A Reverse B. Forward
C. either reverse or forward D. none of the above
BotR SLAS doll WURAA HIR oo Ale@sdl ol GUuaoL s.
. | A | Hlad B. | §ras
Co | Aol ¥ Q2as D. | 2l ol As uwl 8.
The disadvantage of a half-wave rectifier is that the ........
22. | A components are expensive B. diodes must have a higher power rating
C. output is difficult to filter D. none of the above
8les Ad RASAR oll AGLAUEL A................... 0.
2. | A | s1dlsle Wen B. B. | sialls
C. | aGBeye & fleer 529 Auu3 . D | i ol As uw o8l
If the A.C. input to a half-wave rectifier has an R.M.S. value of 400/v/2 volts, then diode PIV rating is
P
A. | 400/V2v B. | 400xV2V
C. 400V D. none of the above
%l 400/v2 Al RM.S. WAL 8atye A slesAa 3Lg12AR A A Al stls ol PIV 3oL
R slal HeA.
- [ A | 40042V B. | 4002V
C. |[4o0v D | i ol As ug o1&l
2 The ripple factor of a half-wave rectifier is ........
A ]2 |B. [121
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C. |25 |D. [0.48
sles Ad sEsAR ol uct 3522 ... 8laL.
¥ [A 2 B. [1.21
C. 2.5 D. 0.48
The PIV rating of each diode in a bridge rectifier is ....... . that of the equivalent centre tap
25 rectifier.
A one-half B. the same as
C. Twice D. four times
@y 3515122 otl €35 Stells o PIV 22101 & Aze Sy 3s2lse2 soc ... sl
U | A | s B. | aruw
C. | auau D. | a2 awau
There is a need of transformer for ........
26. | A half-wave rectifier B. centre-tap full-wave rectifier
C. bridge full-wave rectifier D. none of the above
2lUSR oll %32 o ui sl
Rs. | A | sles Aa RslslaR B. | 2R 2u get Aat sdlslaR
C. | gt Aa [Q 2slstz. Do | 2l ol As g o8l
The maximum efficiency of a half-wave rectifier is ...........
27. A. 40.6% B. 81.2%
C. 50% D. 25%
slgAct 3SR ofl HedH stlettdl.......... ol
9. A [40.6% B. [81.2%
C. 50% D. 25%
The capacitance of a varactor diode increases when reverse voltage across it
28. A decreases B. Increases
C. breaks down D. stores charge
ARs2R SLAls ol 3V ad 2R A stAs o Add AR a .......... wld.
¢ | A | wetsan B. | cluauni
C. | Qs siBet scUMl D. | e ol 2212 sRaumi 2.
To display the digit 8 in a seven-segment indicator
29. | A C must be lighted B. G must be off
C. F must be on D. All segments must be lighted
Actet Aotz BrA w8 BnA sl HE2......
e, | A |l A usl@d sA % Wd B. | % ciu Sl ReA.
C. | Ag et &l o AR D. | st o Aotz ysi@d e R,
When the light increases, the reverse current in a photo-diode
30. A. Increases B. Decreases
C. is unaffected D. none of the above
AR Yslal dll R, 512 stals ol Aad s ...
30. |A |ad B. |2
ColuidRatwd D. | i ol As ual o8l
To display the digit 0 in a seven segment display
31. | A A must be lighted B. F must be off
C. G must be on D. all segments except G should be lighted
Actat Ao (3@ L o BurA sal Hi.....
A 1A A yst@d sdl o U3 Ag ol Al ANBA.
31. :
C. | o Aot A % ANSA D. | o Raual olt ottt & o2 yst@ld dlaut
BB,
A transistor has ........
32. | A one pn junction B. two pn junctions
C. three pn junctions D. four pn junctions
32. | 2l al........
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A1 Qs YAt ofs9let 8l A Yot o521t 2t
C. | o WAt o520t Sl D. | 2k YlAet s9tet Sl
The number of depletion layers in a transistor is ........

33. A Four B. Three
C. One D. Two
2lPeR Hl 3rAlet AR ofl vaul......... 8l

33, | A | urR B. | o
C |as D la
The element that has the biggest size in a transistor is ........

4. | A collector B. Base
C. Emitter D. collector-base junction
2l Wi A A2l eto......... A{lNe 8l

3y. | A | sAseR A
C e D. | sAser QA% ¥sat
Atransistorisa......... operated device.

35. | A Current B. Voltage
C. both voltage and current D. none of the above
2lPR A duclld Bausa B.

3u. [ A | 522 ey
C. | 532 wud ARy 2 D. | 2l ol As uwl «18l.
In an npn transistor, ....... are the minority carriers.

36. A free electrons B. Holes
C. donor ions D. acceptor ions
Npn 2i3@2 Ml e B3l 33l dla B.

3. |[A | 4l s@sglet B. | &t
C. | SLll2 2zt D | wsdie? aet
The input impedance of a transistor is ......

37. | A High B. Low
C. very high D. almost zero
2R ol Botye srdls............... sl

39. |A | ay A
C. U.QD. q't:l D. @5[ a5
In a transistor, ........

38. A. IC=IE+IB B. IB=IC+IE
C. IE=IC-IB D. IE=IC+IB
23R Hleeeeeeeeeeee,

3¢. [A [IC=IE+IB B. [IB=IC+IE
C. IE=IC-IB D. IE=IC+IB
The value of a of a transistor is ........

39. A more than 1 B. less than 1
C. 1 D. none of the above
2l |l o ol BHd........ 8l

3¢. |A | asdiay 4 52l A
C. |q Do | i ol As ug 18l
IC=alE+.....

40. A. IB B. ICEO
C. ICBO D. SIB
IC=alE+.....

¥0. | A IB B. ICEO
C. ICBO D. SIB
In a transistor if B= 100 and collector current is 10 mA, then IEis ........

41. A. 100 mA B. 100.1 mA
C. 110 mA D. none of the above
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% 2i[Bre? ML p=100 WA 5AS22 522 10mA &l A | IE ofl BHc

¥1. | A 100 mA B. 100.1 mA
C. | 110mA D. | i ol As uel ol
The value of B for a transistor is generally ........
42. A. 1 B. less than 1
C. between 20 and 500 D. above 500
2lee? ui g oll Bu......... 8l
¥2. | A |4 B. | 4 sl 2l
C. 120 el uoo oll a2 D. | yoo s2cll ay
The most commonly used transistor arrangement is ........ arrangement.
43. | A common emitter B. common base
C. common collector D. none of the above
A2 ldl GUDHL uadl iR ol 2Rt .
¥3. | A | et AnlleR SlHel A
C. | uat sAse? D. | i ol As ual o8l
The phase difference between the input and output voltages in a common base arrangement
iS ....... .
4. A J180° B. [90°
C. 270° D. o°
SlHot Qo3 AU Ui 8oy ol MBaYd AR ol AR%eU 5% dslcd ......... 8l
¥¥. A ]180° B. [90°
C. 270° D. 0°
The phase difference between the input and output voltages of a transistor connected in
45 common emitter arrangement is ........

' A. 0° B. 180°
C. 90° D. 270°
SlHot A{l2R AUl Ul Bolye Al WBaYct AR oll AR%A 333 dAslcld .......... alaL.

LA oo B. [180°
C. 90° D. 270°
The voltage gain of a transistor connected in ........ arrangement is the highest.
46. A common base B. common collector
C. common emitter D. none of the above
el ol oo sl Uetl Hi Wl ay Ao Aol HA.
¥5S. Sluel A B. | Sluet sAs2
Sluot Ale? D. | i ol As ual o8l
ICEO = (........) ICBO
47. A. B B. 1+o
C. 1+ B D. none of the above
ICEO = (........) ICBO
C. |1+ D. | 2l ol As gl «18\.
A heat sink is generally used with a transistor
48 to........

' A. increase the forward current B. decrease the forward current
C. compensate for excessive doping D. prevent excessive temperature rise
2l AW AHR QA o HER (B2 @s Guadol L uA B,

¥e. | A | 8kad s aural B. | §la$ s2e watsal
C. | ay Sdlat & uymieL s:c D. | diustet oll cuzl & Ascl
The most commonly used semiconductor in the manufacture of a transistor is ........
49. A germanium B. Silicon
C. carbon D. none of the above
232 A olotlaal HIZ2 A ay aupng AHSsser ............... 8.
¥e. | A | ailellan B. | Alcllflot
C. | stolot D. | i ol As ual o8l

6/9




If the value of o is 0.9, then value of B is ........

50. A. 9 B. 0.9
C. 900 D. 90
B o oll BHd 0982, A Poll BHA ceeeeeeee. AL,

0. A T9 B. [09
C. 900 D. 90
Transistor biasing represents ........ conditions.

51. A. A.C. B. D.C.

C. both A.C. and D.C. D. none of the above
2R of GlARIDL ... ARt Uld 8.
va. | A A.C. B. D.C.
C. |AC uaAD.C. ua D. | 2l ol As ual 8.
Operating point represents ....... :
52 A values of IC and VCE when signal is B. the magnitude of signal
' applied
C. zero signal values of IC and VCE D. none of the above
UL WHL ... Y 5D
A1 IC % VCE ofl Buct veu? oot | B | Rootcd oll BHd
Yr.
A sled A
C. | 1cua VCE ol BA Rootet B D. | 2l ol As uwL 8.
Transistor biasing is generally provided by a ........

53. | A biasing circuit B. bias battery
C. Diode D. none of the above
2l ctalol Qe ... GLRL AU wa &,

us. | A | crarllol wrdle B. | szt A2dl
C. |sias D. i ol As ual o8l
For faithful amplification by a transistor circuit, the value of VBE should .......... for a silicon transistor.

54. | A be zero B. be 0.01V
C. not fall below 0.7 V D. be between 0 V and 0.1 V
2l ol A Anclgl3alet W2 VBE of! (5H RSl giDace HE....... slel.

w A [ 3a B. [001V
C. 0.7V sdl A o8l D lovua 01Vl ard
The point of intersection of d.c. and a.c. load lines represents .........

55. A operating point B. current gain
C. voltage gain D. none of the above
WAL Ul SLAL ASs Aot oll HAU WER ... Y 52

uu, [ A | Ul Wsse 532 Agel
C | Qe Awst Do | i ol As gl «él.
An ideal value of stability factor is ........

56. A. 100 B. 200
C. 10 D. 1
Rollcdldl ¥se ofl wuedl Bud ...

“s. A" T100 B. [200
C. 10 D. 1
The disadvantage of base resistor method of transistor biasing is that it ........

57. | A is complicated B. is sensitive to changes in
C. provides high stability D. none of the above
2l ool A A AR et oll ARGAEL A ... .

wo., |A | ouagedl B. B. | pwd Aalléla B.

C | ay Rellcdldl 2 D. | 2l ol As ug o8l
The biasing circuit has a stability factor of 50. If due to temperature change, ICBO changes by 1 pA,
58 then IC will change by ........
A 1100 pA B. [ 25pA
C. |20pA D. |50pA
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oltafloL uRsle ol Rolldlél 3582 50 B. %\

AlUHlel oll WEELA ol 510 ICBO 1 pA B2cl

e, | HearRl AL, IC......... vecl HEAL.
A. [ 100 uA B. [25pA
C. 20 pA D. 50 pA
The operating point is also called the ........
59. | A cut off point B. quiescent point
C. saturation point D. none of the above
BRI WL ... ueL sdall.
e, |A | seully Wée (sagie W2
C. | Axdaet W2 D. | 2l ol As uel 8.
The disadvantage of voltage divider bias is that it has ........
60. | A high stability factor B. low base current
C. many resistors D. none of the above
Aoy (Sclaus: USleall ARSLAUEL ... 8.
so. | A | G wollclldl ¥se A AR 522
C.o | wau A D. | i ol As ual o8l
For proper amplification by a transistor circuit, the operating point should be located at ........ of the d.c.
61 load line.
' A. the end point B. Middle
C. the maximum current point D. none of the above
2lPeR ARl glrl AL Acll3 et 12, AUREDL WL ... oA Sl Als
Bt HL Slall e,
Sq. -
A1 B B. | weani
C | ayw ay sz Wge Do | 2l ol As gl «tél.
If the value of collector current IC increases, then value of VCE ........
62. A remains the same B. Decreases
C. Increases D. none of the above
s5Ase? 53¢ 1C ofl (51 a8 l, VCEol [BHA ...
s, [A | uRull o 28 Bl w2,
C. |ad. D. | i ol As ual o8l
When the temperature changes, the operating point is shifted due to ........
63 A change in ICBO B. change in VCC
" | C. change in the values of circuit D. none of the above
resistances
AR AlUHlel AR R AU et ... all 510 WEALAL
s3. [A | ICBO ot wecud VCC il sectd
C. | wrdle At cecial D. | 2 ol As gl «18\.
In voltage divider bias, VCC =25V ; R1=10kQ; R2=2.2kQ ; RC=3.6 kQ and RE =
64 1 kQ. What is the emitter voltage ?
' A. 6.7V B. 53V
C. 49V D. 3.8V
@y [Saualse died Hi, VCC =25V ; Rl = 10 kQ; R2 =2.2 kQ ; RC = 3.6 kQ ¥a\ RE =
oy | 1kQ. A A2 ARy oll (Bud ¥ed awa?
A. 6.7V B. 53V
C. 49V D. 3.8V
A zener diode isused asa............. voltage regulating device.
65. A. shunt B. Series
C. series-shunt D. none of the above
PolR SIAS............. Al AL Bausy ¥ Guallal ala.
su. [A | e B | @A
C | R ua g2 D | i ol As ug o1&l
66. | When load current is zero, the zener current will be ............
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A. Zero B. Minimum
C. maximum D. none of the above
Als 522 A fla AR BeolR sw........... sl
ss. |A | BR ool |l e
C laygway il As ugl «ldl.
The zener current will be minimum when ............
67. | A load current is maximum B. load current is minimum
C. load current is zero D. none of the above
so. [A B. :
C. D. | 2l ol As gl 8.
When an A.C. signal is applied to an amplifier, the operating point moves along ........
68. A. D.C. load line B. A.C. load line
C. both D.C. and A.C. load lines D. none of the above
2[R ArElglaR o Al Rostet UM WA R WUREDL Wée.............. olloy s
sc. |A | Sl As cget B. | Al As clteset
C. | Al x1a A As cuset D. | 2l ol As uwl «18l.
In the zero signal conditions, a transistor sees ......... load.
69. A. d.c. B. a.c.
C. both d.c. and a.c D. none of the above
DA Relcd s8latet Ui 2iBeR ... Als Bajea.
se. |A |l B. | Al
Co | lal wal A v D. | i ol As ual o8l
The input capacitor in an amplifier is the .......... capacitor.
70. | A coupling B. Bypass
C. leakage D. none of the above
AAlsAR of Botye U2 A .o UleR B.
90. | A | sucllal ATERIE
C | 3 D. | i ol As ual «t8l.
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